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What can we learn from the first observation of a g=23 QSO target? Is it a
quasar? Is it a Lyman-alpha quasar?
What can we say about its redshift?
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Main goal for week

* Produce realistic g=23 Q50s and test for recovery

o QSO templates

e Redshifted Forest + LLS + sub-DLA + DLA

. DESlfied with g=23



Step 1:Templates
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Step 2:Forests+HCD

 Randomly drawn from BOSS mocks uncorrelated
realistic skewers
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Step 2:DESIfied
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Pop Quiz:Q1
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Pop Quiz:|1
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|Isabelle: 2.83

POp QUIZA“ Answer: 2.81
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Pop Quiz:Q2
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Pop Quiz:
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POp QU'ZAZ Answer: 2.56
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Pop Quiz:Q3
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Pop Quiz:I3

flux

—
[ |

4000 2000 6000 /000 3000 9000
Wavelength (Ang)



|Isabelle: 2.34

POp QU'ZAS Answer: 2.34
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Pop Quiz:Q4
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Pop Quiz:l4
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POp QUIZA4 Answer: 2.03
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Pop Quiz:Q5
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Pop Quiz:l5
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POp QU'ZAS Answer: 2.82
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Pop Quiz:Q6
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POp QU|ZA6 Answer: 2.96
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Pop Quiz:Q7
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Pop Quiz:l7
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POp Qu|zA7 Answer: 2.31
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Pop Quiz:Q8
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POp QU'ZAB Answer: 1.94
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Pop Quiz:Q9
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Pop Quiz:I9
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POp QUIZA9 Answer: 2.27
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Pop Quiz:Q10
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The Results

Spectrum #

1
2

3

10

Ztrue

2.81000

2.56100

2.34200

2.02826

2.82300

2.96200

2.30700

1.93616

2.26800

1.68996

Zlsa

2.83

2.57

2.34

2.04

2.83

2.97

2.32

1.93

2.27

1.68

Az ~ 0.01

=

Av ~ 1000 km/s

e Quick and dirty z
estimate

e [rue data has
more pitfalls

 Emission lines
underestimated

 [femplates to be
improved

 Redmonster
development to
come



